SM3H Unit 5 test review answers
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44. Translate right 1, x-intercept: none
y-intercept: (0,2), HA: y =0
Domain: (—oo, ), Range: (0, o)
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45. Translate up 1, x-intercept: G, 0)
y-intercept: none, VA: x =0
Domain: (0, ), Range: (—o, )
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46. Reflect over x-axis, horizontal dilation of %,
translate down 4; x-intercept: none
y-intercept: (0, —5), HA: y = —4

Domain: (—oo, ), Range: (— o, —4)
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47. reflect over y-axis, vertical dilation of %, translate

up 3; x-intercept: (_Tzzs’ 0)
y-intercept: none, VA: x =0
Domain: (—,0), Range: (—, )
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48. A ~ $14859.47
49. t = 7 years

50. 20.74 grams
51. x ~ 1.09869
52. x=0



